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3.4 Apriori FLILIERF 5

#include<iostream>
#include<string>
#include<vector>
#include<map>
#include<algorithm>

using namespace std;

class Apriori
{
public:
Apriori(size t is =0,unsigned int mv=0)
{
item size =is;
min value =mv;
}
//~Bpriori () {};
void getItem();
map<vector<string>,unsigned int>find freitem(); / /3R 55 ) 42 10
/IEHETA k-1 FIET, 1585 k HAE I
map <vector<string>,unsigned int >apri gen(unsigned int K, map<vector
<string>,unsigned int>K item);
/ /7R A B I AR
void showAprioriItem (unsigned int K, map< vector< string>, unsigned int >

showmap) ;

private:
map<int, vector<string>>item; / /A TR SR T R 1 5 55 B LT
map<vector<string>,unsigned int>K item; / /A IR I 4
size t item size; /IR EE
unsigned int min value; / /e /N A
bi
void Apriori::getItem() V20 Ink WS UL E R

{
int ci=item size;
for (int i=0;i<ci;i++)
{
string str;

vector<string>temp;
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cout<< "M AL  "<<it+1<<"PEHELSHIHLE (123 end) :";
while (cin>>str && str !="123")

temp.push back(str);
}
sort (temp.begin (), temp.end());
pair<map<int, vector<string>>::iterator, bool>ret =item.insert (make
pair (i+1, temp));
if (!ret.second)
{
—1i;

cout<< "REI ARIICEEFFE HEE A | "<<endl;

}
cout<< Mmmmmmmmmmm oo BITERWMT i -~ "<<endl;

map<vector<string>,unsigned int>Apriori::find freitem()
{

unsigned int i=1;

bool isEmpty=false;

map<int, vector<string>>::iterator mit;

for (mit=item.begin();mit!=item.end () ;mit++)

{

vector<string>vec=mit->second;

if (vec.size() !=0)
break;
}
if (mit==item.end()) VS & 5k

{
isEmpty=true;
cout<< "HHHFE N 1B F L EHAT .. ."<<endl;
map<vector<string>,unsigned int>empty;
return empty;

}

while (1)

{

map<vector<string>,unsigned int>K itemTemp=K item;

K item =apri gen(i++,K item);

if (K itemTemp ==K item)
{
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i=UINT MAX;
break;
}
//FV R A AT T — RS
map<vector<string>,unsigned int>pre K item=K item;
size t Kitemsize=K item.size();
/ /RERE LM B 5 K BRI, AR R K RO B IR A AR K+ 1 R
E Sy
if (Kitemsize!=1 && i!=1)
{
vector<map<vector<string>,unsigned int>::iterator >eraseVecMit;
map<vector<string>,unsigned int>::iterator pre K item itl=pre K
item.begin(), pre K item it2;
while (pre K item itl!=pre K item.end())
{
map<vector<string>,unsigned int>::iterator mit =pre K item itl;
bool isExist=true;
vector<string>vecl;
vecl=pre K item itl->first;
vector<string>vecll (vecl.begin(),vecl.end()-1);
while (mit!=pre K item.end())
{
vector<string>vec2;
vec2=mit->first;
vector<string>vec22(vec2.begin(),vec2.end()-1);

if (vecll==vec22)

break;
++mit;
}
if (mit==pre K item.end())

isExist=false;
if (!isExist && pre K item itl!=pre K item.end())
eraseVecMit.push back (pre K item itl);//iZ5 K L Z Wi W i%
/ /MR
++pre K item itl;
}
size t eraseSetSize=eraseVecMit.size();
if (eraseSetSize==Kitemsize)
break;
else

{

vector<map<vector<string>,unsigned int>::iterator>::iterator

(3]
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currentErs=eraseVecMit.begin () ;
while (currentErs!=eraseVecMit.end ())//MBERFTA N ZMERISE K 9
/ /B E T

map<vector<string>,unsigned int>::iterator eraseMit=
* currentErs;
K item.erase (eraseMit);

++currentErs;

}
else
if (Kitemsize ==1)
break;
}
cout<<endl;
showAprioriltem(i,K item);

return K_item;

map<vector<string>,unsigned int>Apriori::apri gen (unsigned int K, map<vector

<string>,unsigned int>K item)

if (1==K) /I3RS C1

{
size t cl=item size;
map<int, vector<string>>::iterator mapit=item.begin();
vector<string>vec;
map<string,unsigned int>cl itemtemp;
while (mapit!=item.end()) / /¥ IS 5 R BT A I B G A ok
{

vector<string>temp=mapit->second;
vector<string>::iterator vecit=temp.begin();
while (vecit!=temp.end())
{
pair<map<string,unsigned int>::iterator, bool>ret=cl
itemtemp.insert (make pair (* vecit++, 1));
if (!ret.second)
{

++ret.first->second;
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}
++mapit;
}
map<string,unsigned int>::iterator item it=cl itemtemp.begin();
map<vector<string>,unsigned int>cl item;
while (item it!=cl itemtemp.end()) //RIE NG 1 AR I
{
vector<string>temp;
if (item it->second >=min value)
{
temp.push back(item it->first);
cl item.insert (make pair(temp, item it->second));
}
++item it;
}
return cl item;
}
else
{
cout<<endl;
showAprioriltem(K-1,K item);
map<vector<string>,unsigned int>::iterator ck item itl=K item.begin(),
ck item it2;
map<vector<string>,unsigned int>ck item;
while (ck_item itl!=K item.end())
{
ck item it2=ck item itl;
++ck item it2;

map<vector<string>,unsigned int>::iterator mit=ck item it2;

//BCH BT R RIS H S T R4S K GO SRR S, H B RIS AR
[ /BRI IR ET K- 1 WSS AR, RS R BUAR, SREPWAKE
/ /A U K+ 1 A A B 5
while (mit!=K item.end())
{
vector<string>vec,vecl,vec2;
vecl=ck item itl->first;
vec2=mit->first;

vector<string>::iterator vitl,vit2;

vitl=vecl.begin();

vit2=vec2.begin();
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while (vitl<vecl.end() && vit2<vec2.end()
{
string strl = * vitl;
string str2 =% vit2;
++vitl;
++vit2;
if (K==2 || strl==str2)
{
if (vitl!=vecl.end() && vit2!=vec2.end())
{
vec.push back(strl);

}
else
break;
}
if (vitl==vecl.end () && vit2==vec2.end())
{
--vitl;
--vit2;
string strl =% vitl;
string str2 =% vit2;
if (strl>str2)
{
vec.push back(str2);

vec.push back(strl);

else

vec.push back(strl);
vec.push back(str2);
}
map<int, vector<string>>::iterator base item=item.begin();
unsigned int Acount=0;
while (base item!=item.end() )//Zi1i% K+ 1 P 1E 10 78 J5 g5 55 4
/75 I R

unsigned int count=0,mincount=UINT MAX;
vector<string>vv=base item->second;
vector<string>::iterator vecit, bvit;

for (vecit=vec.begin();vecit <vec.end();vecit++)

{
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string t= * vecit;
count=0;
for (bvit=vv.begin();bvit <vv.end() ;bvit++)
{
if (t== % bvit)
count++;
}
mincount= (count <mincount? count: mincount) ;
}
if (mincount>=1 && mincount!=UINT MAX)
Acount+=mincount;
++base _item;
}
if (Acount >=min value && Acount!=0)
{
sort (vec.begin(),vec.end());
/S K+ 1 IR B, A B A
pair<map<vector<string>,unsigned int>::iterator,
bool>ret=ck item.insert (make pair (vec,Acount));
if (!ret.second)
{

ret.first->second +=Acount;

}
++mit;
}
++ck item itl;
}
if (ck_item.empty()) //i%5H K+1 RIMBEWUE N2, BHIWALE R, 8 —F0m %
/ /IR IR [T
return K _item;
else

return ck item;

}

void Apriori::showAprioriltem (unsigned int K,map<vector<string>,unsigned int>

showmap)

map<vector<string>,unsigned int>::iterator showit=showmap.begin();
if (K!=UINT MAX)
cout<<endl<<"H "<<K<<" P EILE K "<<endl;

else
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cout<< "H RN E I F . "<<endl;
cout<<"Hl FEr<<m A\t "<<"JfiF"<<endl;
while (showit!=showmap.end())
{
vector<string>vec=showit->first;
vector<string>::iterator vecit=vec.begin();
cout<<"{";
while (vecit!=vec.end())
{
cout<< ¥ vecit<<" ";
++vecit;
}
cout<<"i"<<" \t ";
cout<<showit->second<<endl;

++showit;

unsigned int parseNumber (const char * str)/ /X FH 7§ A R B 0t 47 20 i A0 3
{
if (str==NULL)
return O;
else
{
unsigned int num=0;
size t len=strlen(str);
for(size t i=0;i<len;i++)
{
num * =10;

if(str[i]>="'0" && str[i]<="9")

num +=str[i] -'0";
else
return 0;

}

return num;

void main ()
{
//Apriori a;
unsigned int itemsize=0;

unsigned int min;

(1]



}

do

cout<< “i%iﬁ AFSH";
char * str=new char;
cin>>str;
itemsize=parseNumber (str);
if (itemsize==0)
{
cout<<"EHI A KT 0 I H 1 "<<endl;
}

} while (itemsize==0);

cout<< "I A /N H
char * str=new char;
cin>>str;
min=parseNumber (str) ;
if (min==0)
{
cout<< "I A KT 0 IE#H 1 "<<endl;
}

} while (min==0);

Apriori a(itemsize,min);

a.getlItem();

map<vector<string>,unsigned int>AprioriMap=a.find freitem();

//a.showAprioriItem (UINT MAX,AprioriMap);

system ("pause") ;
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AL
+ 3-4 KX EAFK People
RecordID Age Married NumCars RecordID Age Married NumCars
100 23 No 0 400 34 Yes 2
200 25 Yes 1 500 38 Yes 2
300 29 No 1
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